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Instructions: Show all work. Use exact answers unless specifically asked to round.

1. Find the values of the missing sides and angles for each described triangle(s). Round the angles
to one decimal place (in degrees) and the sides to two decimal places, if needed.
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2. Convert the points in the first column from rectangular coordinates to polar coordinates, and
the second column from polar to rectangular. Use exact values when working with a special
angle, otherwise, round to two decimal places for x, y, and r, and 4 decimals places for the angle
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